Quiz #2 Math 181 Name: )(&7
6/30/21
Show all your work clearly. No Work, No Credit.
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2. Sketch and then set up integral(s) for volumes of the region bounded by the curves:
x=2y>—-5y-3 and x=4y+2 which is rotated about the following lines:
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3. The base of a solid is bounded by y=¢* and y=0 for 0<x<2. All parallel — cross — sections are

squares perpendicular to the)})ase and the x — axis. Find its volume.
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4. A 500 — ft — cable that weights 6001bs is attached to a 1500 — Ibs — elevator. Calculate the total work

required to pull both the cable and the elevator up 500 ft. (10pts)
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5.

The following tank is full of water. Determine the work required to pump the water out of the outlet.
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